// *******************************************************************
// InputScanner2.java By: Aiman Hanna (C) 1993 - 2016
// This program illustrates more on the Scanner inputs. 
//
// Key Points: 
// 
1) Allowing more than one input at the same time
//    2) Program crash as a result of invalid input 
// *******************************************************************
import java.util.Scanner;
// Must import that class in order to use it
public class InputScanner2 {

public static void main(String[] args) {


// This program asks the user to enter few values for 


// an investment and then calculates the profit accordingly  


double profit, principle, interestRate; // create 3 double variables


int numOfYears;


// Create one scanner object; this object is needed since inputs will be made through it


Scanner kb = new Scanner(System.in);
// kb is just a name; it can be anything


System.out.print("Please Enter the Principle, the Interest Rate & the Number of Investment Years: "); 


// Now read the 3 expected values one after another from the user


principle = kb.nextDouble();


interestRate = kb.nextDouble();


numOfYears = kb.nextInt();


// Now, all the values were entered; calculate the profit  


profit = principle * interestRate * numOfYears;


System.out.printf("The profit after %d years is %.2f$.", numOfYears , profit);


kb.close();

}
}
/* The Output
Please Enter the Principle, the Interest Rate & the Number of Investment Years: 1598.12 0.0625 6
The profit after 6 years is 599.30$.
*/
/* Run Again (Notice the distance between the entered value)
Please Enter the Principle, the Interest Rate & the Number of Investment Years: 1823.34


.0276        3
The profit after 3 years is 150.97$.
*/ 
/* Run Again (Notice the distance between the entered value - different lines are spanned here)
Please Enter the Principle, the Interest Rate & the Number of Investment Years: 1298.56
.065
4
The profit after 4 years is 337.63$.
*/ 
/* Run Again & Crash the Program! 
// (These problems may easily, and will, happen once the user gets control, unless we handle them. 
//  We will surely handle these types of problem later on)
Please Enter the Principle, the Interest Rate & the Number of Investment Years: 1870.25 .0625 ABCDSDDDD
Exception in thread "main" java.util.InputMismatchException

at java.util.Scanner.throwFor(Unknown Source)

at java.util.Scanner.next(Unknown Source)

at java.util.Scanner.nextInt(Unknown Source)

at java.util.Scanner.nextInt(Unknown Source)

at InputScanner2.main(InputScanner2.java:32)
*/
